<Yy
AAAA

= 7’
/7 N 3, p)'A
R
g \\'I = il:’ :'2 :
pi== % Wy il 5 B
Wl
é» -:f:- 3 i

TOP =
200 QUESTIONS

3“1
ERCEEE T R

BY ASHUTOSH MAHENDRAS \OWM
() o | 06:30 PM




UPCOMING ONLINE BATCHES

February 2023

08 FEB 2023
~

15 FEB 2023

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

BILINGUAL BILINGUAL

15 FEB 2023

BANK ONLINE LIVE CLASS

English & Bengali

@ www.mahendras.org e Q 7052477777/7052577777




SSC CHSL 2022-23

H/w Q. Which one of the following 1s included in the State List under Seventh
Schedule of Indian Constitution?
R & & o a1 v wfaem & wradt T7gE & aed o g |
ST 82

(A) Education \/
/

(B) Electricity

_~(C)[Railway Pol@/

(D) Forest J
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//H/w Q. 3T 3158 ST HAT & ?

What does the word Arya indicate?

7 A- jvllclnl a4z /Ethnic group

% B {9’5’ 93T [Superior lineage

_C -HT9T ¥9E /Language group

__D- Wﬁﬁ?ﬁﬁﬁ/ None of the Above
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Electron-volt is a unit of
_AFeH-aIee i Uah 3hTS B

S.S.C

CGL (T 1) 13 3T 2021((1 Tl

J \/

(a) Potential difference / fayaiaX
(b) Currentfi%l?\lff %TRT/
(c) Power/ i) ~/

Z (&) Energy/zt )/
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2 SAF-AIeE (eV), BT qTHTY I TR

N Tifaehl 7 IYANT T S ATl el IRl 2l Th
Wﬂqdld e Toret $c'|°rd|-| T SRS SO aTel
SRR o1 7 ST el % qcd BT 8l

@ L/Qsﬂora«l Jiee (1 eV) =1.602 x 10 193@

® The electron-volt (¢V) 1s a unit of energy
commonly used in atomic and nuclear physics.
One electron volt 1s equal to the energy present
in an electron or a charged particle with unit
charge.

1 electron volt (1 eV) = 1.602 x 107" joules
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(O The mass of an object 1s a
" U 9% I ZIHH Teh 2l
O o / -
S.S.C. #Heg C.P.0.S.I (T-T) 1 e, 2017 (11-ret)

__—’___-‘

S v
(a) HIIdsh HIAT/Physical quantity Y

(b) HifeTeh ATAT/Fundamental Qyntity

y (c) 3T AT/Scalar quantity y
/ ) F“ﬁ foIeheq T&l %ﬂAll the options
_

are correct.
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* HifcTeh | ST 7 TRMET 9% &, o= 3= afvw
%ﬁqﬁﬁﬁﬂﬁﬁqﬁmw gl &, - e,
SoTHM TS OHA| S Uk ifde T R NP
[M L TJ ST 3 it % 50 S8 9 § ek foRAT ST Tk 21
SoIH Ueh Afesr Ty % FITToR TAH hael IHTT

/ I &l > -

* Fundamental quantities or basic quantities are
those, which cannot be defined in two terms of
other quantities, such as length, mass and time.

Mass 1s a physical quantity because it can be
expressed in terms by the laws of physics. Mass i1s
a scalar quantity because it has only magnitude.
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Q.3 What is the unit of relative density?
~ STféTen Tea Y TRTS T 22 _
S.S.C. 3 CHSL (T-1) 15 SHeRT, 2017 (111 - dTedt)

—

(a) Kg/m./ Tomum./t. S/

(b) Kg/m2 / ferum./ant =t f

(c) Kg/m/ Tohum./a 1. J
é (d)(It has no unit{39eh! 15 SIS el ald!
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e

‘//P

® 20°C W TRl S o BMcd T 4°C WX ST oh Tcd

o JTIUTC hl & 3hT ST

&oh ¥ hed o

W@h ged = 20°C T TG T T/

4°C Y A <hT I

—

<

* The ratio of the density of an object at 20°C to
the density of water at 4°C is called relative

density of the object.

* Relative density = Density of the object at 20°C/

—

Density of water at 4°C
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Q.4 Sour taste of lemon 1s due to the presence of which of the following?
/ o o (Y AN N
"||®|C\°|'>| gl dla [ehd<nl ﬁlac\alil °h <h (LYl oldl %‘? —
S.S.C. AT HTaeh T (T-1) 8 fadsiy, 2016 %II- qredt)

~ (a) Citric acid / [aTefee uftre S
(b) Acetic acid/ THITdoh T O

(¢) Oxalic acid/ AT TS

(d) Formic acid/ %ifties e /
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e
° "||®| hl gl dlaq, $H°h {1 ﬁ{‘ll'ildoh 3TFA

/ feTs o gIdT 2] ATsideh TRt 31
’ﬁﬁamaﬁtmﬁsﬁww%
éﬁwqﬁaﬁwﬁwaﬁﬁmﬁé

—

o The sour taste of lemon i1s due to the

presence of citric acid 1n its juice. cause
happens. Citric acid 1s also found in other
fruits such as oranges and grapefruits, but
lemons contain higher amounts.
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Q.5 Which of the following proteins 1s found 1n nails?

/I-—ll--llQ'il’eld A IEH T H U St e? 7 %
S.S.C. ST C.P.O.S.L (T-I) 5 [T, 2017 (11- 9T
—_— //

Y4 Y

W (Keratln) Uh i’-‘ﬁ_q"l'{ 9I¢H Bl I®

(a) Histone/ 1%@37[\/

AT, i, S g Y | d1 /
U]\A (b) Keratm%
Keratin 1s a fibrous protein. /1% © Elastm/ %F’“ﬁ‘?_“[

proteins are found in hair, nails, horns, (d) Actin/ e

wool, etc.
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Q.6 What 1s the main component of human bone?

TS TSI oh1 HE&A B2 &1 87
S.S.C. ATATST LIS, 14 sy, 2017 (I-9TeiT)

(a) Phosphorus/ %T%le\l{%k/
}Calcium%ﬂ?ﬂ? /

/

(©) Zing/STT ~/

@) [ron/dT&T /
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S
® {4 655| %l J&I ¥dsh _(Main Component)

HicRIH &, R%‘éﬁ‘oﬁwmw CEEURCE
T H T WS & | hicRaH BIehe A5
AT TS TSIt | T Tereh AT § UTT ST 2|

/

main component of human bone 1s
calctum, which 1s a mineral helpful 1n
providing structure and strength of bones. A
salt called calcium phosphate is found in the
highest amount in human bones.
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Q.7 Highest percentage of carbon 1s found in which form of coal?

/S % TR T § TR TTSTd ShTe U ST 87

/

/4 -

(b) Bituminous / TsigiA

(c) Peat/die
(d) Lignite / ECIE /

) /Xnthracite TYTHTSS Y
N




. N '\/ ?\/
* TYTHTEE HT GIH HR, Tk IR
/ Taad &9 g | THH 90-95% doh hIei shl AT

Eﬁ?ﬁ 2 | fogfima o 55-80%, |cf14r||s¢ T 40-55%
oI Hie el B/40% 8 A Fe Wﬁ

racite i1s the hardest, brighteSt and best

form of coal. It has a carbon content of 90-
o _ono . Coa

@ " e / @ 95%. 55.804 c.arbon is found in bltun'nnous,

_ / 40-55% 1n lignite and less than 40% 1n peat

coal.
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Q. 8 Both hemoglobin and myoglobln are required for the formation of

_gHralfsd 3R HRIANSE S| ¥ fomfor & fore smeww B L
SS.C. AT HTeeh &4 (T-1) 12 314, 019 (I11- 9Tt

/

(a) Vitamin B12/ foeTiiT B12
(b) Vitamin A / feTie A

(c)[lron/\] //

(d) Calcium / h{cTH




pa

-

Iron 1s an essential element for the
formation of both hemoglobin and
myoglobin. The function of hemoglobin
1S to transport oxygen in the blood,

whereas the function of myoglobin is to

store oxygen.

ATl (Iron) EHRCATSH 3T AR—TAT S SET
& fHfor 39 Tk v dcd 2 BHRlfeH
)

FT HA T H AN hl Uiaed

Mransportf‘tm 3, SEfh HEATASH
&} STTeRAST ! TTEd ST 2

——
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Q.9 The deficiency of Niacin - a vitamin of the B complex group causes the
" disease

e -SIT foreTf sii-ehiFecied T o1 Ueh foeTiie &, 3hl ShHl & shiH-H1 I &I o7
y ) | L
SS.C. AR Hde T (T-1) 7 Tadsy, 2016 (11-9Te)

a—

€) Marasmus/ﬁ'{'l'ﬂﬂ'{:r\/

(b)(Pellagr /
/ () Rickets/w:{? / /

(d) Nightblindness/Taieit




® Niacin 1s also called vitamin B3. Its
deficiency causes a disease called pellagra.
In this disease, there is a disturbance in the
metabolism of proteins in the body.

1 frerfie B3 i et St 2 gah!
HHT & UATHT THh AR BT ST 21 39 A
# ST % I F U= (Metabolism) |
UCEE RIS IR
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Q.10 Speed of light will be maximum in which of the following mediums?

/Tretefad # & forer areem | wepret 3 it Saferehdw gt

Y% a) Water/qH1
b) Kerosene/fHeet T

< T

/ C) lVaccum/ﬁTﬁFD
~ d) Diamond/gT
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Q.11 Which of the following 1s the largest gland in human body?
_=fafaa o @ #i ame I8 H gey 59 Ui 82
—

a) Thyroid/oTetss
b) Kldney/]Ta'f S/

c) Liver _/J /

d) Pancreas/ww
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Esophagus

Left lobe
of liver

=~ hepatic

Right lobe
of liver

bladder

Cystic
duct

Common\ RS

ile du &

bile duct /\ S ,
intestin

Duodenum

Pylorus
y Pancrea

®* Liver 1s both the heaviest internal
organ and the largest gland in the
human body. Located in the right upper
quadrant of the abdominal cavity, it
rests just below the diaphragm, to the

right of the stomach and overlies the
gallbladder.

_ el we AR SAdieh AT R _AE

IR T ol SIS T G =1 IS IRT o
3Tfe Sl wrqater & ford, 78 STATShTH o
3ok 4|d,ﬁ€é€?ﬂ§3ﬂt W‘zﬁ?ﬂ%aﬁT
e <Y 9t o U 2raT 2

—_—
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Q.12 Which of the following give maximum energy after breaking down?
Tfafed 5 9 & 224 o a1 SAfereRad St adr 82

9 Eatﬁm) /

b) Proteln/Sﬁ?ﬁ?

C) Carbohydrate/ohl®||6|$§d

d) None of the above/STRh H 9
ré /




* Fat gives maximum energy after breaking
down, fat is composed of essential carbon
and hydrogen atoms releasing 9.1 calories

per gram of energy. s

/® 1 LA o §18 HATUhdH Fsil odl &, Sl
34|o|2e4°h sl S IS ISH THTU[ST § ST
SATE S 9.1 lﬁﬁﬂﬁr}rrﬁr&»w ST SRt

3 — =

\
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Q.13 ‘Saffron’ 1s obtained from which among the following parts of the plant?

_/hE e ok TefoTiad 3 O forer wiT O 9T 2ldn 22 ~

@ ) (Stigma/ﬂﬁ?@\//
/ Mb) Anther/T-2HIIT

C) Stamen/gﬁq—w
d) Pollen/9I0 T /




@9 /‘OhH{ Ush qHTAT @ SN ﬁﬁ?ﬂ%wﬁm
/// éﬁﬂ%r—~‘3hH€RQT"a Shichd" dv®qule
ST 21 9 T &9 9% ¢ ST W ST ST 2

@ \/%Fl’(\‘ﬁ‘aor) fcieRT & ITH BT 2| -

/ ® Saffron 1s a spice derived from the flower of

Crocus sativus, commonly known as the

“saffron crocus”. It 1s mainly grown in cold
regions. Saffron’ 1s obtained from the stigma of
the plant.
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Q.14 Which of the following plants have respiratory roots?

Avetaftad 4 @ fore qe # awd S1S Bt 82

b) ]Mangroves/orrc@ ol«iwl(&/

//c) Epiphytes/l'{'feltlv"l'suf?:{:f 4

d) Submerged Hydrophytes/SIcTH
SESIRIEERS

a) Marshy Plants/Seicail tﬁ;/
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@/”7/

\jc (e

—\

® Respiratory roots are found in aquatic plants
and plants which grow on marshy areas. In
mangroves the roots are not getting sufficient
oxygen and hence they grow upwards from
the ground. %

* U SIS iy Ul R der § 98 St §
goiecl &Rl H ITd 8 Hue H Sl 1 Tty
SICESE Hﬁﬁﬁﬁ%aﬁtsﬂﬁqéaﬁ?ﬁ
SWH AXTEd e |

—
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Q.15 Which of the following part of eyes controls the size of the pupil?
_FATE! 1 (TR H 8 ohi=) €1 9HT Yaei! o ST shl HEE shidT 82

W\\@&

Y
O,\ I\/\ﬁ a) Retina/AfeT /

s ) (Iris/ trﬁ?r@/
C) Cornea/ai =T '/ /
d) None of the above/3TH Y ahig T Tal
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® The size of the pupil is
controlled by the iris. The
iris controls the amount of

11 \\\\\\\\&

light entering into the eye.

The iris relaxes The iris contracts

D ——
———

in bright light. in dim light

—
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Q.16 Which metal 1s used in the Galvanization process?

D - CIFS FIER I E IR R E T 9T T SUF T TehaT ST 87

—
=

———

a) Tin/fe /
b) Lead/dr&r /
s C) )Einc/ﬁ'{?@ /

d) L Copper/?"ﬁ'@lT /
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G

4

o ST *|wmmﬁma{%|

N N s NN NN o o AN
HedA19SIRIA S enl Uenhd on [l it Al i Y

Teh ETcHe STl oh\le}chl:i &1 gfshar 2|

4

®Zinc 1s used in galvanisation process.
Galvanization 1s the process of applying a

protective zinc coating to steel or iron, to
prevent rusting.
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Q.17 Which of the following pairs represent two scalar quantities?
_AEARad o | -6 I < SAfesy TR 2 gii e i e?
=

-~

v

a) Mass, Acceleration/SeIHTH, U]

i
b) Temperature, Torque/ dTIHI, EHT'EIClﬂQ

- v
/ C) (Distance, Speed/a’ﬁ, M

d) Gravitational Intensity, Work/]\TDWQI'J
erdT,




T, TIHM, dTIHM, &,

h sica/q; ities”which have only
magnitudg¢ and no direction are called

—

Scalar quantities. Some examples of

Scalar  quantities:  Work,  Mass,
Temperature, Distance, and Speed.
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Q.18 Which among the following gas was leaked at Bhopal during the Bhopal
/gas tragedy on 2-3 December 19847

fiad 7 9 &9 &t i aﬁtrraﬁz 3 faHet 1984 =hl 19T TG T
o SR ek g T2

~ N
a) Methyl isocyanide/fHeget 3 ENJAERIES

) Methyl isocyanate|fHreset 1 |s{«|\|{«| EC

V4

c) Methyl isochloride/MHTSet 3 |$H [FANES

d) Methyl isochlorate/fHTE JTEHFANS
J



@ (\3 e, 1983/% AN I aﬁ?ﬂ

S /. TS % Heah e U 3 o 40 &

/ SRIIERIES C'HlsHIHIs'-Id (THITSE) ﬁ“«‘rfﬁ‘eﬁl

500000 & ST @ T % @0 & 3T 3ﬁT
40#34%@#{@

® On the night of 2-3 December, 1984, the
Union Carbide subsidiary pesticide plant in
Bhopal released around 40 tonnes of toxic
methyl 1socyanate (MIC) gas. More than

500000 people got exposed to the gas and
more than 4000 died.
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Q.19 Which of the following metals are the constituents of German silver?
- AfaRad ® 9 S € o1g S e % aee 7

.

= =

a) Nickel/[Hahet
é b) Copper/?ﬂ%lT
/ c) Zinc/SEl

/ d) LKH of the above/BC{'?:?E %
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P ———

\J
@ +7M+V

@ﬁ&\b/ +2°)+ZGJ
>

c. o N
o S THeaT i, fSish S THehet ht fHereTd

< AT GATeRL0T 60%a16|T 20%ﬁwaﬁt
20 ST 21 =il S e W@@
fea el ST ©, ifoh 39w =Iial a1 aidl ol

erman Silver 1s an alloy of copper, zinc
and nickel. The usual formulation 1s 60%
copper, 20% mnickel and 20% zinc. It 1s
named german silver due to its silvery

appearance, but 1t does not contain silver.
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Q.20 The SI unit for frequency 1s

= ?
- ST 1 T Wt R V _
— — ~ S.S.C. AT MTS (T-I) 27 3T, 2021 (I- Tt
S N

/ (a) Volt/aiee

/ (b) ohm /3
7
/(d)joule/Glgf
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- Cﬂﬁﬁ[ (frequency) <kl UH, 3TTS. (S.1.) HEh
8¢Sl (Heartz) BIdT 8] U i dTel 9&d 51
Ush SO / Hehg i X ITeh! JE | Tl

S Bl B

®* S.I. unit of frequency i1s Hertz. When a

vibrating object makes one vibration/
second, its frequency is equal to 1 Hz.
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Q.21 Which of the following metals can easily be cut with a knife?
[FHTCTRE | © Toher T 31 =ITeh © STTHHT ¥ ST ST Hehell &7

M.

// / a) Sodium/@%?ﬂ
% b) Manganese/ﬁTHﬁva
% c) Zinc/ST&ET
” d) Tin/feq
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e fau U Tt forereat & @ wifeaw T T o1 @
AR 34 =16 W AEET § T ST el &l I8
Teh 3Tcd ek TiATshaTeiier €Tg @ ST =it o Htha
T Bl € |

®* Out of all the given options, Sodium 1s a

softer metal and can be easily cut with a
knife. It 1s a highly reactive metal that i1s
silvery white 1n color.



